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CQuestions 110 10 cany 1 mark each. Questions 1110 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

(20 marks)
S TOo0n S .
1 In 9 873 824, the digit 7 stands for 7 x .
() 100
{2) 1000
3y 10000 .
4) 100000 -
2 Express % of 4 kg in grams.
(1) 400g -
{2} 500g '
(3) 600g
(4 700¢
3 Xueling is 12 years 9 months old. Janet is 2 years 8 months older than she.
What is Janet’s age? .
%ﬁ 14 yr 5 mth
3] 14yr7 mih
. }ﬁ 15 yr 5 mth
M 15yr 7 mth

RHHK P Liath Defirm 0 Ponoe t Bentdaf 4 -«
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The pie chart below shows the number of different types of vehicles in a car park.
- Use it to answer questions 4 and 5.

s many trucks as vans. How many vans are there?

z_i There are twice a
(1) 20
2) 30
(3} .50
@) 80

5 Assuming that lﬁere are 50 buses. Find the ‘.tdta!. number of cars and buses in

the car park.
(1) .40
2) 140
3) 200
- (4) 280

SHHK PF bdath Prefirn X0} Paner 1 Rneldar 4 -
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6 ‘Which of the following is not a symmetric figure?

o Q

[

2)

>
" Q

7 4 friends paid $165 each for reniting a car for 10 days. What ‘was the cost of

renting the car per day?
{1y %1650

(2} %4125

(3) $66.00

{4y $41250

8 Evaluate 24 + (47 - 5) 26 - 4.

1 7z
2y 27
3 3

@ . 45
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9. Jeremy has 38% as much money as Ling Ling. Ling Ling gives Jeremy $62.
Then both of them have the same amount of money. How much does Ling
Ling have at first?

(1) %78
2y $100
(3) $138
(4)  $200

. 10 Arectangle has a length of x cm and a breadth of y cm. What is its perimeter?

() G+y)em
(2} {x-y)em
(3) (@x+2y)em

(4} xyom o

11 The average height of 3 girls is equal to half the height of a woman. [f the
‘height of the woman is 160 cm, what is the average height of the 3 girls and

the _woman? )
(1) 60cm
(2) 80cm
(3 100cm
4) 120cm

12 Mrs Sitoh has just enough flour to bake either 12p muffins or 9r pies. {f she
has already baked 40 muffins and 3r pies, how many more muffins can she

sfill bake?
(1)  6r- 40
"2} 8p-46
(3) or-40

) 12p-40
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13 In the figure below, not drawn to scate, STUV is a square and LTWS = gg°.

Find £USW.
S 3 v

o

N 68°
(1) 22 .
2y 23°
3) 32 . o
4) 34 ]

14 The points P, Q, Rand S are on a straight line. The ratio of the fength of PQ
- to the length of QR is 2 : 3. The rafio of the length of PR to the length of RS is
2:1. Whatis the ratio of the length of QR fo that of PS?

'
o —o —e -
P Q R S
N
2y 1:5
(3) 2:5
5

4y 3:

15  Parcel Ais 3-} times as heavy as Parcel B. Parcel C is half as heavy as
* Parcel A. Find the ratio of the mass of Parcet B to the mass of Parce! C.

{1) . 4:13I

2 8:13
(3) 13:4 _ | |
4 13:8 . | - .-

SHHKPS Math Profim 2009 Paver § Rrnldet 4 .
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Questions 16 to 25 canry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. {10 marks)

4

16 Write four million, eight hundred and forty in numerals.

Ans: i

17  What fraction of 2 hours is 45 minutes?
(Express your answer in the simplest form.)

18  Express 2-? as a decimal, correct to 2 decimal places.

Ans: |

18 Leon started playing games on his computer at 1.45 p.n. and ended at

4.38 p.m. How long did he play games on his computer?

' Ans: h - min

SHHK PE Math Prelim 2009_Paper 1_Booldet 8 1
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20 What is the wing span of the buﬁerﬂy shown below?

T T T IO IO TRV cne
9 11 13 15 17

Ans:

Do not write in
this space

21 - The graph below shows the number of marbles Jay collected
in a week.

24 ; .

Ma. of marhles

coltected
= . n
E) g = = )
- T I a a :E
= & w o =
a g a 5 o
= =, =
| o 'g r

Days in the week

Express the aumber of marbles collected on Wednesday as a percentage of

the total number of marbles coflected from Monday to Friday.

Yo

LI WY Bdrtb #Pndlas "W W P emd The _ww .=
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22 ‘The figure shows the net of a cube. Find its volume.

I om

Ans: _ om®

23 Evaluate9—2n+11+{3n. .

Ans:

24 A photocopier can print one set of worksheets in 15 minutes.

How many such sets of worksheets can the same photocopier print in
3 hours? - N

Ans: .

25 Ramii spent 60% of his money on a pair of soccer boots and the rest
of his money on a soccer ball. If the pair of soccer boots cost $30
more than the soccer ball, how much money did Ramli spend in all?

Ans: $

Total marks for questions 16 to 25 _

RHHK PS Math Proafim 2009 Panarf Rantdof R -
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Questions 26 to 30 carry 2 marks each. Show your working clearly in the
space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the uniis

stated. (10 marks)
26 Find the penimeter of the ﬁgure shown below.
Z2em 2Mem 12 <y,
12 cm
12 cm
21 em
. -,, - ADs: . cm

27 20 pails are needed to §ill % of a tank. How rﬁany pails are needed to

fi -;— of the tank?

Do not write in
this space

Ans: _ -

28 At a sale, a T-shirt and a blouse cost $206. Two T-shirts and three
blouses cost $49. How much does a blouse cost?

Ans:$_ - -

LI ELF" ML Al b P H A e - - - o=
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29 A square cardboard ABCD is pasted on a circular piece of paper.
O is the centre of the circle. The diameter of the circle is 14 cm,
Find the area of the paper not covered by the square cardboard.

{Take = = %)
A B
D C

Ans: cm

30 Abmad wrote the numbers 1 to 99 on cards for a party game, How
many times did he write the digit ‘9" 2 e e :

Ans: '

Do not write in
this space

- END OF PAPER

SHHK P ath Pratiny AKX} Pancr 1 Araltas o -
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Questions 1to 5 carry 2 marks each. Show your working cleariy in the space Do not write in
provided for each question and write your answers in the spaces provided. For | this space
questions which require units, give your answers in the uniis stated. .

{10 marks)
1 The table below shows the number of books read by some students
during the holidays. : B !
Numberof 8 13 9 11 9
" | students :
Number of 0 1 > 3 4

What is the average number of books read by the students?

Ans:

2 Construct a rhombus EFGH whose side EF = 6 cm and ZFGH = 100°.
- Label the rhombus clearly. -

SHHK F6 Math Frelim 2009_Paper 2 . P
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3 In the figure bélow, not drawn {o scate, JKLN is a square and LMN is an

equilateral triangle. Find £p.

M

Ans;

Do not write in
this space

4  Tap A can fill atank completely in 6 minutes. Tap B can fill the same tank

completely in 3 minutes. How long will it take to fill the tank completely
both taps are turned on at the same time?

if

Ans: ) min

5 The ratio of Ming's mass to Devi's mass is 5: 6. If Ming's mass is
increased by & kg and Devi's mass is decreased by 1 kg, then they will
have the same mass. What is Ming's original mass?

Ans:

kg
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For questions 6 fo 18, show your working clearly in the space provided for each Do not write in
queslion and write the answers in the spaces provided. The number of marks this space
available is shown in the brackets [ 1atthe end of each quésfion or part-

question. {50 marks)

6 Dennis wanted to buy a toy aeroplane which cost $44.10. He decided to
save $2.10 a day to buy it. If the price of the toy aeroplane decreased to
$39.90 at a sale, how much did he need to save each day.so that he
could buy the toy aeroplane after saving for the same number of days?

. Ans:_ - i3]
7 In the figure below, not drawn to scale, UVWX is a parallelogram.
UXY is a straight line. Find ~ 3.
Ans: . _ ._I3]

SHHK P6 HMath Prefim 2009 Baner > . -
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8 The line graph below shows the amount of organic fertilizer ﬁeed_ed per

Do not write in
square meftre of land.

this space

180 -
160
140
120 -

:

80 -
60 4-—
. p
20, —
o 4 — b
1 P 3 4 5 6 7 8
Area {(m%)-

Ameunt of fertiilzer (g)

(@) How much fertilizer is needed for a piece of tand of area 7 m??

{b) School XYZ has an organic farm which measures 30 m by 40 m.

If each gram of fertilizer costs 5¢, what is the cost of the fertilizer
needed for the school's organic farm?

Ans:(a)_ ]

(b} - __

BHHK PR Lath Daolin 2000 fae oo n
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Do not wiite in
this space

. 3
9 Rope A'is " as fong as Rope B. Rope B is % as long as Rope C.

Rope A is 25 cm shorter than Rope C. What is the total length of the
three ropes?

Ans: B

SHHK £6 Math Prafin 2009 Paner 2 '3
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10 A rectangular Tank A, 5 m by 4 m by 3 m, is half filled with water. Alithe | Do notwiite in
water in Tank A is then transferred into a cubical Tank B of side 4 m, this space
What is the height of the water level in Tank B?
(Give your answer in metres, correct to 1 decimat place.)

LTI N TP [,

5m.

" TankA Tank B

. Ans_ 3]

SHHI PR 14ath Deelives AR e oo
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11 In the ﬁgure_ bel()?\!, ol drawn to scale, PQRS is a rectangle with a length | Do not wiite in
of 45 om and a width of 22 cm. The area of the quadritateral TUVW is this space
75 a’. Find the ratio of the shaded area to the unshaded area.

Ans: | (4]

SHHK P& Math Prelim 2009 Paser 2 -
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12

3 pupils, Hui, Siti and Eflis, shared a box of cards. Hui took -;— of the

totat number of cards and another 12 cards. Siti took 1 of the

remaining cards in the box and another 13 cards. Elis took the last 27
cards in the box. How many cards were there in the box at

first?

B . Ans:__ |

AL At v s

Do not wrile in
this space
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13

A

The ﬁgure below shows 2 squares, ABCD and EFGH. The length of each
Square is a whole number. The area of the unshaded part is 28 cm?.
What is the perimeter of the square ABCD? -

B

SHHK P6 Math Prelim 2009 Paper 2

Ans:_ @

Do not write in
this space
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14

in the diagram below, not drawn to S i i :

> & cale, ACEH is a trapezium. AF
and GB are straight fines. CDE is an isosceles tri; Given e
ZGBC =115°, ﬁnq Zxand Ly.

Do not write in
angle. Given that this space

Ans: Zx: S

Ly (3]
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. Do not write in
15 Acarand a coach travelled from Town A to Town B. The coach left thts space

Town A at 0648 and it took 5 hours to reach Town B. The car started
30 minutes later than the coach and it took 4 hours to reach Town B.
Al what time did the car catch up with the coach?

Ans: | . 4

SHHK PG Math Prelim 2009 Paper2 14
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16

At a fashion school, ?’O% of the models were Singaporeans and the rest
were Malaysians. 75% of the Singaporean models and % of the

Malaysian models were female. If there were 1200 models at the
fashion school, how many male models were there at the school?

ms_____

Bo notwrite in
this space
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17

in a schoal science fair, there were exhibits from Primary 4 to Primary 6.
Altogether 25 exhibits came from Primary 5 and 6. If 16 exhibils were
not from Primary 6 and 15 exhibits were not from Primary 5, how many
exhibils were there altogether?

‘Ans:’

Do not write in
this space
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18 The figure shows a rectangle with 2 identical semicircles and ciuadrants Do aot write in
within it. Find the area of the shaded part. (Take x = 3.14) this space
-« 20 cm >
. Ans: o 5] 1.
END OF PAPER

CHECK YOUR WORK CAREFULLY 1 -

SHHK P6 Math Prelim 2009_Paper 2 ' 14
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EXAM PAPER 2009

. 'SCHOOL : HOKKIEN PRIMARY
SUBJECT : PRIMARY 6 MATHEMATICS

TERM : SA2

11021031041 Q51Q61Q7 .Q8 Q9 1 Q101011 | Q12 Q13| Q14| Q15
3 2 3 X 2 313 2 4 3 3 2 2 3 2

16)4000840  17)3/8  18)2.43  19)2h53min  20)5.6cm
21)25% 2‘2)27':&&:3 23)20+6n 24)12 set of worksheets
25)$150 26)228cm  27)25 pails  28)$9  29)56cm:
30)20 times

Paper2

1) 8x0=0 . .
13x1=13
9x2=18
11x3=33
9x4=36
36+33+18+13=100
8+13+9+1149=50
100-:-50= 2 books.

3}£ZMLP->90° +60° =150 4)A=6 min>full 1min>1/6

ZKMIS> /P B=3 min>full 1min>1/3
=180° -150" .| 1/3+1/6= Y2 >1min

=30" +2=15" Iminx2 =2 min

Pagelto3 ~ pagel
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5M:D

5:6
S5kg+1kg=6kg
M->5x6kg=30kg

1 6)$44.10<$2.10=$21

$39.90-$21=%1.90

7) LUVX4+ ZVXU=180" -80~
=100°
ZUXZ=180" -160° =20°
Za>180° -20° -100° -38°

8)a)140g
b)1m2>20g
1200m:->24000g
2400 x 5¢ = $1200

=22°
-1 9)5u>25 10)Volume of water in tank A
1u>5 2>5x4x3=60
11iu+8u+6u=25u Half filled with water
25u>125cm 2>60-:-2=30 '
' Height of water level in tank
B is>30:-43:=1.875
~1.9m
11)19:14 12)2/3 remaining cards
' >27+13=40
remaining cards>40/2x3
=60
4/5 of number>60+12=72
Total number>72/4x5=90
The were 90 cards at first.
13)32cm 14) 180° -115° =65"

65° +44° =109°
180° ~109° =71°
LX:71°
ZHAB=_/EBC =44°
4£BEC>180° -44° -76° =60°
ZCED>180° -60° =120°
ZCDE>180° -120" =60<2=30
£y>360° -30° =330°

Page 2
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15)0918

116)25% x 70%=17.5%

1/3 x 30%-->10%
10% + 17.5%=27.5%
27.5% x 1200 =330

There were 330 male modeis.

17)}2(p4+p5+p6)=25+16+15
{ =56
(p44+p5+p6)=56--2=28

18)Y2 x 3.14x10x10=157
157:-2=78.5
12 x10x10=50
78.5-50=28.5
Ya X 3.14x5x5=19.625
5x5=25
25-19.625=5.375
50-28.5-5.375=16.125
16.125x2=32.25
The area 1s 32.25cm:

Page 3






